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General Instructions :
{1}  The question paper comprises two Sections, A and B. You are to artempt both the
S2eHons,

(1) Al guestions are compulsory.

(iii) Al guestions of Section A and Section B are o be artempred separaiely.

(v} There is an internal choice in three guestions of three marks each, twe guestians af
five marks each in Section A and in one guestion of two marks in Secilon B, [

(vl Question numbers 1 and 2 in Secrion A are one-muark guesiions, They are to be
areswered in one word or in anre sentence. '

fvi) Question numbers 3 ta § in Section A gre two-marks questions. These arve fo be
arswered in about 30 words each,

fvt) Question numbers 6 10 15 in Section A are three-marks guestions, These are to be
answered in about & words 2ach.

(viit) Question numbers 16 to 21 in Section A are five-marks guestions, These are fo be
anawered tnabour 70 werdy each,

fix) Question numbers 22 to 27 in Section B are based on practical skills. Each
guestion is o two-marks guestion. These are o be answered in brief.
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A Mendelinn experiment consisted of breeding pea plants bearing violet flowers with
pes plants bearing white flowers. What will be the result in F, progeny 7

“z. e farm waE o W T s farftn | 1

Write the energy conversion that takes place in a hydropower plant.
3. Ife R et g g e ae o e o el o fRufy & R wda A fam

wien 3fte s 3 ey wffes T , @ g i em TER E A R TR TR §
ferm smorifener feee st wftfa | 2
If'the image formed by a spherical mirror for all positions of the object placed in front
of it is always erect and diminished, what type of mitrer is it ¥ Draw o labelled ray
diagram o support your enswer.

(|

4. mRAE X i Al AERR AR S A 443 K 0T w0 e s v
Y = R | A X difemm am @ W sl @ famd s i w2
e & | X0, Y w2 ) TR Y S BN R nat sfifen w
wdeetn oft et wu wa Wi TesiE s & it = 3o of il | 2
A compound “X' on heating with excess cone. sulphuric acid at 443 K gives an
unsaturated compound *Y". "X also reacts with sodium miatal toevolve a colourless
gos L' Idenrify *X', *Y" and ‘Z°, Write the equation of the chemical reaction of
formation of *Y" and also write the role of sulphuric acid in the reaction.

A1/ 3 [P.T.0.
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(e} Name one gustatory receptor and oine olfactory receptor present in humen beings.

tb)  Write & und b in the given flow chart of neuron through which information
Lravels as an electrical impulse.

Dendrite | — TI — | b — | End point of Neuron

9 guizy i = wlemme, e e w wfe 0 R, w5 fism e sefE S
o wae = o wivay () 13,502, (i) 6 LTI Y 7
m ]
{a) I % Ao T fefien |
(b) o Terger #en Foed & o 1 ST 100 Wi 220 V 9T T W 60 Ws 220 V R,
et foregm T 3w el o st # | oft P s o) Seem 220 v A,
A &t T g gy e @ feadt o o A 2 2
Show how would you join three resistors; each of resistance 9  so that the
equivalent resistance of the combination 1s (i) 13.5 2, ({1657
OR
(a)  Write Joule's law of heating,

(b}  Two lamps, one rated 100 W; 220 V, and the ather 60 W: 220V, are conteoted
in paralle] to electric mains supply. Find the current drawn by two bulbs from
the ling, if the supply voltage is 220 V.
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State the laws of refraction of hight. Explain the terin ‘absolute refractive index of a
medium’ and wrile an expression (o relate it with the speed of light in vacuum,

DR

What is meant by power of a lens T Write its SI unit, A student uses a lens of focal
length 40 cm and another of <20 cm, Write the niture and power of eich lens.

g, TeAfeies s s v s e wi=E ) am a g 0w S | 3
fwp wzEl b fewEly o) FETm

Name the hormones secreted by the following endocrine glands and specify one
function of each !

(€1 (a) Thymid (b Piitary (c) Pancreas

9, mmmﬁhﬁm%ﬂaﬁmﬁﬁqmﬁﬁmmmﬁMM
A W A A e § A e g st i & st % are
AT B wwa # 7 319a Iew o g W fer s difing 3

Write one main difference between asexual and sexual mode of reproduction. Which
species 18 likely 1o have comparatively better chances of survival = the one reproducing
gsexually or the one reproducing sexually 7 Give reason (o justify vour answer,

10, (o) Tt s, Rt sl wn A 8, w iy s wwml Sl w8, 3
T Ty |
(by ey Terept <1 sreet) ST U TS fonge e oW B R 7w i |
(e} Temge v gfeeradi & T P o aadin w1 R A & 7w e 3

€l

ia} List the factors on which the resistance of a conductor in the shape of a wire
depends,

(b) Why are metals good conductors of electricity whereas glass is a bad
conductor of electricity ? Give regson.

fe)  Why are atloys commonly used in electrical heating devices 7 Give reason,

3173 5 [P.T.0.
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What is a dam 7 Why do we seek to build large dams T While building large dams,
which three main problems should particularly be addressed to maintain peace ameng
local people 7 Mention them,

ferety feremera % wHt & smrels v | Aw wEe g R e o e W W e
TR e T 3w it o aee o 29w | Fe E o s @ T o m s
ST W R T | Pk wRTew 3 i e ot vt R moaet f s et e w
T 7 WA % o e | e ol & fegadt @ frewd R - meen A @
T 1 B9 T w0 BT R W Y e, 7 g T i e e o e
HE TG |

(a) N FE T T A E TN TR &) I g |
(b) ool A 7, o o ) e e o T e # 7 ) filg i

(] ¥8 wan  fves wergm 3 T qedt & fomg & st ) foe ) o9l & 2 it )
=T ' |

Students in a school listened to the fews read in the morning assembly that the
mountain of garbage in Delhi, suddenly exploded and various vehicles got buried
under if. Several people were also injured and there was traffic jam all ground. In the
brain storming session the teacher also discussed this issue and asked the students o
find out & solution to the problem of garbage. Finally they arrived at two moin points
- one is self management of the garbage we produce and the second is to penerate
less gorhige at individoal level.
{#) Suggest two mq:ﬁs_urg_;gl to manapge the garbage we produce,
(b)  As an individuoal, What can we do to generate the lesst garbage 7 Give two

pints.
(e} List two values the teacher instilled in his students in this episode.
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(b} Mﬁﬁﬁﬁ%mm#ﬁmﬁmﬁﬁmﬁﬁﬁﬁﬁﬂwmﬁaw
ﬁmﬁ!rmmﬁmwwwﬁmm|

fa)  Why are most carbon compounds poor conductors of electricity 7

(b} Write the name and structure of a saturated compound in which the carbon
atoms ure arranged in a ring. Give the number of single bonds present in this
compound,

14, foredt e 2riem R % e o s vt 2 mL HifsTm Fgieme w1 e
TR T rmmﬁ#mmﬂﬁﬁm&mﬁhamﬁaﬁmmwﬁﬁqﬁ
(! W WA % T &yt R mn St e % g w9 e i
T U e e & wgEe & T i frfin | s of uTg feft e & wg
forrem & st 5, =t it e Safofn ¥t e o R | 3

HYF]

TS 1 T i T % v e T A R s pHEM 14 % |
mwﬁmﬁqmmﬁaﬁﬂm%ﬁqmmm | 9 T T
Lok en od

2 mL of sadium hydroxide solution is added to 8 fow pieces of granolated zine metal
taken in a test tube. When the contents dre warmed, 4 gas evelves which 8 bubbled
through & soap solution before testing, Write the equation of the chemical reaction

invelved and the test to detect the was, Name the gas which will be evolved when the
4] same metal rencts with dilute solution of a strong acid,

OR

The pH of o salt used o make tasty and crispy pakoras is 14. Identify the salt and
write & chemical equation for its formation. List its two ses,

15, g (smees) wfifamnsd W FTeREt 1 ArE % fo a A e v T s
ferem v <1 v BT | el W ) b iz, fomd e, e ain
ﬁgﬁmﬁﬂrwﬁﬁaﬁi,hf‘mﬁ—ﬁmmﬁm%ﬁm 3
Decomposition reactions require energy either in the form of heat or light or eleciricity

for breaking down the reactants. Write oie equation each for decomposition reactions
where energy is supplied in the form of heat, light and el~ctricity,

33 7 (P T.0,
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A student js unable to see clearly the words written on the black board placed at
a distance of approximately 3 m from him, Name the defect of vision the boy is
suffering from, State the possible causes of this defect and explain the method
of correcting it,

Why do stars twinkle 7 Explain.

OR
Write the function of each of the following parts of human eye |
(1) Comea (HY Iris (iit) Crystalline Jens (iv) Ciliary muscles
Why does the sun appear reddish early in the morning 7 Will this phenomenon
be observed by an astronaut on the Moon 7 Give reason o Justity your answer.
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Mention any two components of blood,

Trace the movement of oxygenated blood in the body,

Write the function of valves present in between atria and ventricles.

Write ane structural difference between the composition of artery and veins.
OR

Define excretion.

Mame the basic filtration unit present in the kidney,

Draw excretory system in human beings and label the following orpans of

excretory system which pm'ni-m following functions :
(1) form vrine.
{it}  is 0 long tube which collects urine from kidney,

(il1)  store urine until it is passed pat.

A ST S 7 o A1 o g s s 1

(i) svEem, iy A, (i) T

el o1 wree aft e i o At i |

Write the function of following parts in human female reproductive system
(i) Ovary (1) Owidwet (7)) Uterus

Describe in beief the structure and function of placenta.

T % AT e e ffi |

fertget wive 1 s Tt finfiag |

o wver 3 s Fog e s e e o |

() A GHEm (i) e wem

State Fleming's Jeft hand rufe.

Write the principle of working of an electric motor.

Explain the function of the following parts of an electric motor,

(1) Armature (1) Brushes (iii) split ring
)
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{a)

(k)

(s}

{b)

(a)

{t)

(c)

(a)

(b}

{e)

m%ﬁ#mﬁm%mﬂﬁzmﬂmn@aﬁ%ﬁaﬂwﬁﬁfﬁ%
wewl i ferftan |

ww rﬁﬁjﬁimmﬁ#ﬁwwﬁﬁn‘wﬁwmﬁmwt 7 e
%ﬁ'ﬁ?ﬂﬂﬁ#mﬂmﬁmﬂtﬁﬁﬁﬁmﬁﬁq | T & Py s

Write the steps involved in the extraction of pure metals in the middle of the
Betivity series from their carbonate Ores,

How is copper extracted from its sulphide ore 9 Explain the various steps
supported by chemical equations. Draw labelled disgram for the electrolytic
refining of copper,

mmw‘wﬁmw,WWﬁmtmmﬁ%
T T |ﬁﬂﬁﬂ1ﬁﬁﬂm-ﬁmmﬁﬂmﬁm#aﬂm|
mﬂmﬁmmmﬁmﬁﬁﬁmmmﬁﬁﬁm&mﬁwﬁwm
Wmﬁrmﬁmwwﬁh

YT 3T e i |

The modern periodic table hus heen evalved through the early attemprs of
Dobereiner, Newland and Mendeleev, List one advantage and one limitation of
all the three atternpts,

Name the scientist who fist of all showed that atomic number of an element is
more fundamental Property than its atomic mass.

State Modern periodic faw.,

10
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List the steps of preparation of temporary mount of a leaf peel to observe stomata,

2 AdemFEFEEEE A rEa i F I T m s w3 0 8

30 em B0 w8 | Wt wifiw O Rl o e e w6 § e e

(1 o | v site # yofrs = 0" 71 o0 wrm F' aifm ifi | wfifee
e i farvan w6 Sy s ST o i 2

An object of height 4.0 cm is placed at a4 distance of 30 em from the optical centre
‘0" of a convex lens of Tocal length 20 cm. Draw a ray diagram to find the position
i and size of the image formed. Mark optical centre "0 and principal focus “F° on the
' diagram. Also find the approximate ratio of size of the image to the size of the object,

24, Tt wieris, e wfidy (R #, & swEriEn Ry o 1) sit Teis T & o et

T (V) o A e e e e E
! {I V(dee) |05 1.[]5 15| 20| 25|30 40]50]
E TP (01 02 030405060810
| Ty (1) 2 fer v o e e TR i i o Wi (R I i 2
|
|

The values of current (I} flowing through a given resistor of resistance (R}, for
| the corresponding values of potential difference (V) across the resisior are as given
below :

Vivolts)y |05 10 15|20|25]|30]| 40|50
' 1 (amperes) i Dl w2 03| 04| 05| 06| 08| 10

Plot a graph hevween current (1) and potential difference (V) and determine the

| resistance (R} of the resistor,
a3 i1 [P.T.0O
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What is observed when a solution of sodium sulphate is added 102 solution of bariam

chlortde taken in a test tube ! Write equation for the chemical reaction invelved and
name the type of reaction in this case.

it 4w o whi e fafien | su e vl & fafre 9ot =) sfea we
& T Fifam |

uE]

w1 U T ¥ gFer 5 St e % falie = o wa s % g g
Stey o T R | v o g S e & SR e Wi () geiEn |
Name the process by which an amoeba reproduces. Draw the various stages of ity
reproduction in a proper sequence.

OR

A student is viewing under a microscope & permanent slide showing various steges
of aseaxual reproduction by budding in veast, Draw dagrams of what he ohserves.
{in proper sequence)

et w1 3 3 waleml A 3 B T T e Tete W wI Teke & 9w
Fererei & Uegitm Uiy & 5 gFe =9 | WA & gEt um § 3 C s D el
s o o S e ok wi weke & e faer B S T o
A | e s fis vomaferdi § 39 o =t i 3§ ofeds fead dm 7oz wdn & am
1 e i &t = ol oo w4 i

A student added few pieces of'aluminium metal ro two test tubes A and B containing
aqueous solutions of iron sulphate and copper sulphate, Tn the second part of her

experiment, she added iron metal 10 another test wbes C and D containing aqueous
solutions of aluminium sulphate and copper sulphate.

Tn which test tube or esttubes will she observe colour change ? On the basis of this
experiment, state whith dné is the most reactive metal and why

12



